N
MAT 201, Quiz #10, Fall2016 Name K E \/

Instructions: Show all work. Answers without work required to obtain the solution will not receive full

credit. Some questions may contain multiple parts: be sure to answer all of them. Give exact answers
unless specifically asked to estimate.

1. Find the arc length of 7(t) = ti + % t?j + t%k on [1,4]. Set p the integral; you may integrate
numerically.
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2. Calculate the cutvature of #(t) = ti + %tzf + ;i;t3l? at the point t = 2. What is the radius of

curvature? ‘
res)= (tr 'tJ + £ k, I(e'¢ON = (424
rﬂ C,‘f") O“ o t) 1Lt k.. ‘<: [lr'(:t")?kr";(f)ll . Jt‘(..rq.t‘l_‘.!
ETIRTE ICON (et
\ i tl:' (@t+-) ""*(u: -0)} (08 52 @)= ot ot .
o | &t t ?A'J-Hk- (1+4+1b)

\-___________ 3
‘(0 x e CN= 444 e+ \é:s) l R= ‘C—)‘

3. Find the surface area of the part of the paraboloid z = 4 — x2 — y? that lies above the xy-
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